HPJ-550A3 123B28715/6

4260 3310
v !

0

i
M\:‘:/ﬂf

i, | M




B47(4 : HPJ-550A3

EENo. - -
HPJ-550A3 - -

RiiNo. BmI—R LT FREE
0100 121027B01 | TR-508VLH28(550D) 1
0101 | 30120008050 |- 8X 7X 38 hyu) * 1
0102 | 39134508008 | My 1
0103 | 39134508006 | M4y (D9HH7H) 1
0105 | 3 9500A02807 |#3- ID28 L7 OD34 1
0110 | 3 B275110110 |#°Y7°7 5hwb 1
0111 | 3 9101R08090 | Ib Dyhyyosy” 2
0112 | 3 9140R08000 |DYH73Yh M8 2
0113 | 39162508000 |t54°#°% M83f 3 SUS 4
0114 | 39163508000 |N\"##"#°% M8 SUS 2
0115 | 3 9101R06020 |i° I+ M6X20 SUS 2
0116 | 39162506000 |t54°#°% M634°$Ih SUS 4
0117 | 3 9154R06000 |U#Yh M6 SUS *N 2
0120 | 3B275110120 |¥-}I"4 -550D 1
0125 | 3B275110125 |7°34yhh5- -550D L9.4 2
1100 | 3 E53102207420 |t-4-3.7KW IE3200V4P* 1
1110 | 39101R08035 |#" kbt M8X35 SUS 4
1111 | 3B123211113 |t5%°1°% 8.5X22X3 4
1112 | 39162508000 |t3#"4°% M83#" 3 SUS 4
1113 | 39163508000 |/A"#4"h"% M8 SUS 4
1114 | 3 9140R08000 |ODYHY#Yh M8 4
3010 | 3 B287113010 |3 #yhA"-R 1
3011 | 39101R10020 | A+ M10X20 SUS 2
3012 | 39162510000 |t34°#°% M103h RISUS 2
3013 | 39163510000 |A“#"h°% M10 SUS 2
3100 | 3B287113100 |#N9% SW-4-1C 1
3101 | 39133B04016 |#A°1%5"° N RE3YH+3°7H 2
3200 | 3 B287113200 |tUIMA{yF ASW-320*N 1
3201 | 3 B256853201 |E°N°Y NWA-J53 *N 1
3300 | 3 B287113300 |#17°94F)32.0X4CX5.6M 1
3310 | 3B287113310 |7 {3 1
3320 | 3B287113320 |4-7°WJ3 L=650 1
3321 | 3 B180353330 |7'VtYH3 30 1,25X50MM 1
3322 | 3B127713322 |7 V&Y VSF 0.75X190 1
3323 | 3B127713323 |7 V&Y VSF 0.75X190 1
3324 | 3B287113324 |37°)3 TRY-550D2 1
3450 | 3 B275113450 |IAy-0y) SK-14L 1
4260 | 3 G50031943R |7°-3°D50X10MP *** 1
4261 | 3B275114261 |7°-"3 TRY-345 1
4270 | 3B275114270 |5°-°75°7°5 -550D 1




B47(4 : HPJ-550A3

EENo. - -
HPJ-550A3 - -

RiiNo. BmI—R LT FREE
4271 | 39303D15100 |7°yyy 1/2X3/8TS165 1
4500 | 30V72205000 |A-35UV-SW 7y0-4"53 1
4600 | 3 B275114600 |$19AIy7°h 1
4610 | 3 B275114610 |$19375°7°8 1
4611 | 39203B15028 |OUyy" S-28 2
4801 | 3 B122514445 |Li56-A297° M 1
4802 | 3B123214802 |A7°UY) #-A8X13.5X250 1
4803 | 3 B320554850 |ii-A 770y 9X10X3CM 1
4804 | 39214A15000 |#-ANYM 94P- 13-15 1
4805 | 30095322920 |I-F/UY7° COT12 1
4806 | 3 B2600048901 |#ry7° *N 1
4810 | 3 B123214810 MM Ly79° 7% 1
4811 | 39201B20011 |OUyy" P-11 1
4820 | 3B275114820 AW -3"7°34yhA 30 1
4830 | 3B275114830 AW -3"7°349+B 1
4831 | 3 9133R04008 |FA"I5° I RE595+3° 2
5100 | 3 B2751151001 |yp-y * 1
5101 | 3 B250553014 |7°ODAYh SG-16A *N 2
5130 | 3 B287115130 |3-F7°34yh 1
5131 | 3 B122510150 |7y7°tyhihb M6X16 2
5140 | 3 B287115140 |AMyFON - 1
5141 | 3 B280053011 | b+ 6X12 UP P=3 3
5160 | 3 B2751151602 |#A°-"4F 2
5161 | 3 B122510150 |7y7°tyhihb M6X16 1
5170 | 3 B275115170 |M\*Y\°- -550D 2
5171 | 3 9101R06020 |l M6X20 SUS 2
5172 | 3B275115172 |t34°#°% 6.3X19X1.5 2
5173 | 39163506000 |N\'#"4°% M6 SUS 2
5200 | 3 B287115200 |Hi°- 1
5210 | 3 B275115210 |J7°# I M6X10 3
5270 | 3B275115270 |AUM -550D * 1
5271 | 3 B140615260 |/7°YMKT-N1,M6 **N 2
5272 | 3 9101R06030 |if"Ih M6X30 SUS 2
5273 | 3B275115172 |t5%°#°% 6.3X19X1.5 2
5274 | 39163S06000 |/“#°1°% M6 SUS 2
5280 | 3B275115280 |i-A#% -550D 1
5281 | 3 9140R08000 |DYA7HY+ M8 2
5282 | 39162508000 |t54°#°% M83f I SUS 4
5283 | 3 9150R08000 |0YAY7503YH 2
5284 | 39163508000 |M\“##°#°% M8 SUS 2




B47(4 : HPJ-550A3

EENo. - -
HPJ-550A3 - -

RiiNo. BmI—R LT FREE
5290 | 3 B275115290 |JA MY -550D 1
5291 | 3 9130R06035 |#A"1#° M6X35 +74SUS 1
5292 | 39162506000 |t54°#°% M634°$Ih SUS 2
5293 | 3 9140R06000 |DYH7HYh M6 1
5294 | 39163S06000 |/“##°1°% M6 SUS 1
5800 | 3 B275115800 |¥vUy 315E-N75 1
5801 | 3 B122510150 |7y7°tyM bt M6X16 4
5810 | 3 B275115810 |ywUy)s 2
5820 | 3 B275115820 |¥r¥"4h3- -550D 2
5821 | 39162520000 |t3%'#°% M203h ISUS 2
5822 | 39225520035 |7ty 2
7100 | 3 F3041A0250 |SG50-40 D2.5 SKY (50HZ) 1
7100 | 3 F3041A0280 |SG50-40 D2.8 SKY (60HZ) 1
7101 | 3 FOAGNO0025 |#'Y,/A°M#Y7° D2.5 (50HZ) 1
7101 | 3 FOAGNO0028 |#°V,/3°M#Y7° D2.8 (60HZ) 1
7150 | 3 G412140B1000 |#-A 1/2X10M TRYty} 1
7151 | 3 G41214061000 |hffi-A 1/2X10M 1X1 1
7152 | 37126025060 | /4yhhy7° Uy 1/2 2
7200 | 3 0XA5420000 |ii-A tyh 1"X2.7M 1
7210 | 3 0XC5420000 |#-AJ3 1"X2.7M * 1
7220 | 3 0XA5516200 |AM-F DS-3 1" I Y* 1
7500 | 3 B287157500 |3A°N MUY 1
7501 | 3 9060TE0000 |3A°) 50HZ *N 1
7501 | 3 9061TE0000 |3A°) 60HZ *N 1
7510 | 3 B287157510 |3\°) hovf 2
7530 | 3 B0800175201 |3A°W(/110/b%Y) 1
7531 | 3D753144050 |47y 1
7540 | 3 B275117530 |35\°) F1'd 1
7550 | 3 B275117550 | 3A°) F19f A -FUNRSY 1
7560 | 3 B320957570 |3A% FOIAS Uy *N 1
7570 | 3 B275117570 | ¥-h AMMA" 1
7580 | 3 B123217580 |3A°N 1-¥aY 1
8000 3000 A7° 33y 1
8001 | 3 FOPB150612 |PCN-1/2-0612 1
8002 | 3 G412140B1000 |- 1/2X10M TRYfyh 1
8003 | 3 G412140B2000 |- 1/2X20M TRYtyh 1
8004 | 3 FOYK22K22B |¥°3fub 1
8005 | 3 F818402000 |M¥17¥°7°5 139 SKY 1

PK 360TRY57PK | N°y4ubyh(TRY5.7-3) 2




